This program uses a database and linear interpolation method to provide data relative to
Temperature, Internal Energy, Enthalpy and Entropy of the most common gases. For the last one,
Pressure is taken into account. Knowing one of the first 4 variables and the Pressure (that influences
only the Entropy) the others are obtained. If never Entropy nor Pressure are known, Pressure is
equal to 1 bar per default.

In addition for each gasis provided alist of some fundamenta constants: Critic Pressure, Critic
Temperature...

The program supports all units: you can chose to use program defaults units (with display digits
contral), SI Units, Eng/US units or custom units that you can save and/or set like default:
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TVFE OF USE €314 + [EMTERI=OK AMD [ESCI=CAMCEL

Pressure EELER->
Temperature _70C+
Erergy _Btu=+
Mas=s _amu-+

Save asi | |

Set Custom Defaults HO=+

Enter=0K ESC=CAMCEL
gastabhl>

USE + AWD * T0O OFEM CHOICES

Example with Program Defaults

You know Temperature T (450 K) and Pressure p (1.5 bar) and you want Entropy S, Enthalpy h and
Internal Energy u of H2.

Enter gastab() and select the gas you want and Properties
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Gas: HZ+
Properties+
RELUH QUIT
Ent.er=0K ESC=CAMCEL
gastah{

UZE £ AMD * TO OFEM CHOICES

Enter
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Insert khnown data only

T [K1: [450

u [kJ<kgl:

b [kJ<kgl:

S [kI-(ka-Kx1t |

p [barl: (1.7

RUH BACE
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Enter
And you'll have:
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Inzert khown data only

T [K1:

u [kJ<kgl: MESFE.FS

h [kJ-kal: [E447.4

S [kJ<Ckg-K21: |69.6029

p [barl: [1.5

FUH BACE
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If you know the Entropy (80Kk—JK) and Pressure (1.5 bar) and you want T,u,h
g X
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Insert khown data only
T [KI:
u [kJ<kgl:
b [kJ<kal:z
S [kI-Cka-kx1: [28
p [barl: 1.5
RLUN EACE
— “Enter=0K ESC=CHMCEL » b —
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Enter
You will have:
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Insert known data only

[kI<kal:s [2426.E7

—
=

u
lh [kJ<kal:s [13199.33
S [kI-Cka-Ki1: [20.
p [barl: [1.5
RUH BACK
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If you want to know H2 constants

Back and select constants
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Gas: HZ=+
Lonstant sk
RELUH QUIT
L CEnter=0k ESC=CANEEL ) )
gastabi>
USE % AND & T0 OFEN CHOICES,
Enter
T
- i Hz conskants gt T=300K and p=ibar A

Molecular Mass= Z2.01%8 kga-kmol
Rl= 4124 J-oika-Ko

cw= 10183 Jooka-K2

cp= 14307 JrOka K2

Critical Pressure= 12.9 bar
Critical Temperature= 33.2 K

BRCK QuIT
Ent.er=0K ESC=CHMCEL
gastapht?

HMAIN DEG AUTO FUWC 0/99

Usually you need to know Pressure (p) or Entropy (S), if don’t know S neither p the program takes
p=1 bar per default.

This program has been already used many times without problems. If you find any bug first assure
you to have selected the English language in the Mode and not to have trandated the code with any
program. If the problem persists, please, let me know.

For a better and faster answer, please, enclose some screenshot of the bug: entered inputs, expected
outputs, error messages, erroneous code line, Mode setting... it will help me very much!

My address is paol osilingarditi @interfree.it; write  TI-Program as Object of e-mail!

IN ORDER TO PREVENT SPAMMING, E-MAIL WITHOUT THE CORRECT OBJECT
WILL BE AUTOMATICALLY DELETED!

You can find all my programs at this address:
http://www.ticalc.org/archives/files/authors/44/4458.html.

Remember to vote this program in the site!

Paolo Silingardi



